MULTIPLICATION: NEGATIVE DECIMAL NUMBERS (H - SET 2)

TWO DIGIT DECIMAL NUMBER 1;1?: o
w1 —0.004 x (—0.007) = 50 0 x (—0.003) =
12 —0.7 x 4.1 = 11 —0.4 x (—=0.0054) =
333 (0 x 0.003 = 15 —0.002 x (—0.0023) =
334 —0.0005 x (—0.0043) = 319) —(0.01 x 0.0054 =
335 0.001 x 0.0058 = 350) —10 X 25 =
336) - (0.0004 X 9.6 = 31 —0.008 x 0.94 =
w4 % (—0.082) = 52 0,08 X 7.8 =
335 (0.0003 X 59 = 353 —0.0006 x (—0.0025) =
) —0.009 x (—0.0075) = w0 0.0004 x (—3.7) =
) —0.4 x (—=7.3) = ) 0.05 x (—9) =
s —0.0002 x (—0.63) = 50 —0.06 X (—=7.7) =
32) (0.002 X 7.7 = 357 0.9 x 0.3 =
5 —0.006 x 52 = s —0.4 x (—73) =
1) —4 x (—0.086) = 359) —2 x 0.001 =
39 0.9 x (—43) = 1600 x 10 =
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